

Fórmula General

$$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

Escribe los valores faltantes para aplicar la fórmula general.

$$2x^2 - 2 = 3x$$

a =

b =

c =

$$x = \frac{-(\quad) \pm \sqrt{(\quad)^2 - 4(\quad)(\quad)}}{2(\quad)}$$

$$x = \frac{\pm \sqrt{\quad + 16}}{\quad}$$

$$x = \frac{\pm \sqrt{\quad}}{\quad}$$

$$x_1 = \frac{\quad + \quad}{\quad} = \quad = \quad$$

$$x_2 = \frac{\quad - \quad}{\quad} = \quad = \quad$$

$$-5 + x^2 = -4x$$

a =

b =

c =

$$x = \frac{-(\quad) \pm \sqrt{(\quad)^2 - 4(\quad)(\quad)}}{2(\quad)}$$

$$x = \frac{\pm \sqrt{\quad + 20}}{\quad} \quad x = \frac{\pm \sqrt{\quad}}{\quad}$$

$$x_1 = \frac{+}{\quad} = \quad =$$

$$x_2 = \frac{-}{\quad} = \quad =$$

¡Éxito!

